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Tuesday — Outdoor Times Table ideas

5+5+5=15

3x5=15
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Multiples of FOUR
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We are a multiple of 4

We aranota multiple of 4\

J

Sort the numbers ir& 10

the correct box.
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Make a path from top to bottom by

colouring in the multiples of 4.

Fill in the missing numbers in these sequences:
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4 8 | 12
32 | 36
80 | 84 | 88
32 | 28 | 24
60 52
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Thursday — Reasoning and Problem Solving Task

James is buying pizzas. He buys 4 pizzas at a cost of £9 each. Draw a representation of this
before writing out the calculation and finding the answer.
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Jake has fewer than 20 dogs staying at his kennels. He must sort them into groups
to decide how many dogs will stay in each kennel. If he sorts them in groups of
four, he has none left over.

If he put 4 dogs in each kennel, he would have no dogs left over. If he put 3 dogs in
each kennel, he would have 1 dog left over.

How many dogs could he have?

Find all the possibilities. o

4 d
8
If Jake sorted the dogs into 12
groups of 4, there would be
no dogs left over. This means || 16 v
that the number of dogs
must be a multiple of 4. 20
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Friday — Mini Quiz
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5x4=__ 11x4=___ 4+4=_
1x4=__ 4x11=____ 4x12=_____
4x3=_  44+4=  2x4=
4x1= 10x4=__ 28+4=__
48+4=__ 3x4=___ 4x6=_____
4x8=  32+4= Tx4=_
4x4=__ 36+4=___ 40+4=_
16+4=__ 12x4=__ 12+4=___
4x7=__
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